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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 SRR THET R4.9.29 BEARLUL=F (FEER BREE9(<44) 8.23 8.2
2 wmET R4.9.30 BEERLULM=T (FE% BRHE(<3.3) BRHET(<3.2) - Janpcc
3 wmET R4.9.29 BEERLULM=T (FE% BRHET(<2.9) 2.44 24
4 =kzn7) R4.9.28 BEERLULM=T (E% BRHET(<L5.0) BRHET(<3.4) - Janpcac N
5 ZART R4.9.29 BRLWM=F (5% BRHEE9(<3.9) 454 45
6 RFF R4.9.29 BEERLULM=T (FE% BRHET(<3.9) BRHET(<3.4) - Janpcc N
7 SEEEE R4.9.28 BERLULV =T (7EER) BRHET(<4.4) BRHEET(<41) BRHEY
8 SEEEE R4.9.29 BERLULM=1F (%) BRHEE9(<5.3) BRHEE9(<3.8) L Janpcac N
9 =Tl R4.9.30 BRSO (EHh) BRHEHET(<41) BRHET(<L3.6) BRHEY
10 =Tl R4.9.30 BRSO (EHh) BREE3(<4.1) BRHEE9(<3.6) L Janpcac N
11 SERWT R4.9.30 [REARAHI (Fih) BRHE9(<3.6) BRHE9(<2.9) BREEY
12 AR AT R4.9.28 [FROST=1T(FEHh) BHEET(L31) BHEEY(<36) BHEY
13 T 4ERET R4.9.29 BRUSI=1T (Fh) BHEET(<42) BRHEEY(<38) BHEY
14 =Yg R4.9.29 BRUSI=1T (HEE%) BHEY(<33) BHEEY(<32) BHEY
15 = Ey R4.9.29 BRUSI=1F (HEE%) BRHE97(<3.6) BRHEE9(<43) BHEY
16 RRHT R4.9.29 T3 (BEBE) BRHET(<45) 475 48




BRERER

No b1 FEH APlniESE ti.L-134 t 9 L-137 SEE
Ba. kg Ba. kg Bqg. kg
17 HN;EHET R4.9.28 T3 (BEE) BRHET(<4.0) 5.16 5.2
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